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Y :�C AB = 2, 5 cm
CLN

AC = 7, 5 cm Z[ Z]\ >B<VE�:�<VC^<?>_<VK6M�A6:�CL:�; BC Z` Z]a K6MONP;DC Y :�CT<?>FRPK6bcbcCTd�C�Re>BGI;DC�R1f�>4Egf2:�;Dh�C�RiC�RSN1h�A6>B<VC^j_<lk >BGI;DCAB;DGVRPh�C Zm ZTn Mpo�K6RD>4M2N AB = a
Q
AC = b

CLN
BC = a
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CLN
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[ Z 9�GVbco�<?GI@�CT<VC�ReCLw�o�;DC�RPRPGVK6M�ReRP:�GVr6>4MONDC�R]{
A = (5x + 2)− (6x + 4) B = (−3x− 4) − (−8x + 3)

C = −(5 + 3x) + (−x + 4) D = (−5x + 3) + (4x− 5)

` ZT� h�r6C�<VK6o�o�C=CLNe;Dhud�:�G?Re<VC�ReCLw�o�;DCLRPRPG?KBM�ReRP:�GVrB>BMONDC�R]{

E = 2(3c − 5)− 6(4c + 3) F = 5(−4c + 2) + 2(3c − 4)


